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B 43z E 4 OUT  IN  GR HDCP  NET x
B 5H %t 44 38 82 13.0 69.0
#E 2N % 37 36 73 3.0 70.0
3 = & 38 41 79 6.0 73.0
4 05 B 43 40 83 10.0 73.0
5 FER T 46 41 87 13.0 74.0
6 f = 39 42 81 6.0 750
1T R XE 46 40 86 10.0 76.0
8 {ERAK BEF 48 48 96 20.0 76.0
9 TH #HHE 37 45 82 50 77.0
10 KF A 42 47 89 12.0 77.0
1 8@ —= 43 41 84 6.0 78.0
12 F£%H &F 49 43 92 14.0 78.0
13 Efih K89 43 41 84 50 79.0
14 A {#FE 44 46 90 11.0 79.0
15 BRR 50 56 106 27.0 79.0
16 ®mF 1517 48 45 93 13.0 80.0
17 E”RK F=F 42 45 87 6.0 81.0
18 R Fn&E 46 45 91 10.0 81.0
19 F#H &I 55 51 106 25.0 81.0
20 #BT AT 46 45 91 9.0 82.0
21 AR f=E 46 49 95 13.0 82.0
22 EX BHHA 44 44 88 5.0 83.0
23 EBE fEX 46 46 92 9.0 83.0
24 hH ¥ 50 44 94 8.0 86.0
25 mhft fE— 55 52 107 21.0 86.0
26 BElR EXRX 49 49 98 11.0 87.0
21 KR EF 54 52 106 16.0 90.0
OPEN [EIE H4S 42 47 89 12.0 77.0
WmF k- 49 47 96 16.0 80.0
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